23

18
13 ()
60
61
13 11 94
23,264
23
24
5,870,002,700 2,800,000,000 47.7% 18%5
16
23
H20 H21 H22 H23
1 1
\ 0 0
27 27 27 23
‘ 4 4 4 2
30 36 44 44
31 37 45 45
29 29 27 23
5 4 4 4
6l 3,054 55 3,075
23 22
(A) 1,241,508 (1,120,846) 31,637 (53,765)
(B) 1,258,010 (1,188,319) 31,637 (53,765)
(A)-(B) 16,502 ( 67473) 0 (0)
16,513 ( 67,591) 0 (0)
84.3 (82.2) 93.6 (96.4) 20,000  (20,000)
98.7 (94.3) 1125  (130.6) 64,552 (44,490)
12.9 (13.7) 99.2 (99.0) 0 (0)
76 (11.8) 99.2 (98.9) 0 (0)
59 ( 14.1) 6.2 (3.4) 0 )
55.1 (65.9)
( 21,637 (44,077)

H16 H16
H17
H18
H20 18 H19
H19
H21 H21
H24
23
H21 H23




21 22 23

(A) 1,350,456 1,120,846 1,241,508

152,487 125567 124,648

45,146 44,189 40,638

1,060,499 203,055 386,462

87,981 738,349 684,113

29,944 670,425 638,151

44,235 53,765 31,637

13,802 14,159 14,325

(B) 1,383,592 1,188,319 1,258,010

1,246,457 1,047,880 1,162,752

1,197,467 976,883 1,061,027

48,990 70,997 101,725

137,136 140,439 95,259

3,324 3,054 3,054

87,116 88,536 57,545

(C)=(A)-(B) 33,136 67,473 16,502

(D) 0 0 0

E 1 118 1

(F)=(D)-(E) 1 118 1

(G)=(C)+(F) 33,147 67,501 16513

(H) 364,295 331,148 263557

()=(G)+(H) 331,148 263557 247,044

0 0 0

0 0 0

0 0 0

Q) 4,060 11,624 36,781

(K) 5,872,528 5,876,588 5,888,212

(L)=(2)+(K) 5,876,588 5,888,212 5,924,993

(M)=(G)+(J) 29,087 55,967 20,268

(N) 6,236,823 6,207,736 6,151,769

(0)=(M)+(N) 6,207,736 6,151,769 6,172,037
21 22 23

497,252 291,620 472,902

101,442 69,829 121,499

6,118,586 6,087,634 6,123,980

5,871,389 5,883,013 5,913,349

0 0 0

5,868,539 5,859,046 5,582,437

244,868 201,979 207,899

3,593 4,201 4,406

0 0 0

2,329 2,643 2,732

6,615,838 6,379,254 6,596,882

404,509 223284 420,439

395,100 218,200 408,000

4,486 2,923 6,115

3,593 4,201 4,406

0 0 0

3,593 4,201 4,406

408,102 227,485 424,845

5,876,588 5,888,212 5,924,993

5,865,701 5,877,325 5,930,797

0 0 5,804

331,148 263557 247,044

5,688 5,688 5,688

241,276 197,778 197,688

6,207,736 6,151,769 6,172,037

6,615,838 6,379,254 6,596,882




